' The partial quotients method is a way to XN :
. solve division problems by repeatedly . X7\ 17J 589 10 :
. finding pieces of the quotient, or a partial ! diisor 17] 589 T—— dvidend :
. quotient, subtracting the products from ' -170 | 10 :
' the dividend, and then adding up all the : 419 partial quotients :
: quotients to determine the answer to the products -ﬂ 10 :
» division problem. : 7% 9 :
: : -170| 10 :
. Label the products, partial quotients, : 79 '
: dividend, and divisor in this example : -68 4 :
: problem. . 11 ﬁ Remainder of 11 .
: : 589 +17 =34 R11 :

1 806 + 23 L2 5,435 + 58
i BTN s
: XN . 58/5435 :
l 23] 896 : - 58019 :
5 3;% rounded : -580|,,  rounded |
' i I (0] i : 4775 divisor :
: divisor ! :
: 436 ! : 580|190 { :
: 23010 25,4=100 3695 60x4=240
. 206 23 x4 =92 : -1160 20 60x3=180 :
: — 92| 4 ; 2'5°35 58x3=174
: 114 : - 1160(20 :
: 2138 . -1160/|20 E
: : '2'15 :
: 38 Remainder of 22 : _174| 3 :
E 5 41|93 5
93 Remainder of 41 :
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